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Exercise 4A

1.

2.

(a)
(c)
(e)
(a)
(b)
(<)
(d)
(e)
(a)

(b)

(c)

(d)

(a)

(b)

()

(d)

(e)

7,14, 21, 28 and 35 (b) 13, 26, 39, 52 and 65
19, 38, 57, 76 and 95 (d) 23,46,69,92 and 115
32, 64, 96, 128 and 160

Factors of20are 1, 2.4, 5, 10 and 20.

Factors of45 are 1, 3. 5, 9, 15 and 45.
Factorsof36are 1,2, 3. 4,6,9, 12, 18 and 36.
Factors of 63 are 1, 3, 7, 9, 21 and 63.

Factors of S4 are 1, 2, 3, 6, 9, 18, 27 and 54.

26412

Its ones digit is 2, so it is divisible by 2.

Now, 2 + 6 +4 + 1 + 2 = 15, which is divisible by 3. So, the given
number is also divisible by 3.

The given number is divisible by 2 and 3. So, it is also divisible by 6

8316

Its ones digit is 6. So it is divisible by 2.

Now, 8 + 3 + 1 + 6 = 18, which is divisible by 3. So, the given number is
also divisible by 3.

The given number is divisible by 2 and 3. So, it is also divisible by 6.
17703

Its ones digit is 3. So, it is not divisible by 2. 1 + 7 + 7 + 0 + 3 = 18,
which is divisible by 3. The given number is not divisible by 2. So, it is
not divisible by 6.

23758

Its ones digit is 8. So, the given number is divisible by 2. 2 +3 + 7 + 5 +
8 = 25, which is not divisible by 3. So, the given number is not divisible
by 3.

Since, the given number is not divisible by 2 and 3.

Thus, it is also not divisible by 6.

34156

The digits at tens and ones place is 56 which is divisible by 4. So the
given number is divisible by 4.

The last three digits (hundreds, tens, ones) are 156 which is not divisible
by 8. So the given number is not divisible by 8.

82083

The last two digits are 83 which is not divisible by 4. So the number is
not divisible by 4.

The last three digits are 083 which is not divisible by 8. So the given
number is not divisible by 8 also.

90432

The last two digits 32 is divisible by 4. So the given number is divisible
by 4.

The last three digits 432 is divisible by 8. So the given number is also
divisible by 8.

10568

The last two digits 68 is divisible by 4. So the given number is divisible
by 4.

The last three digits 568 is divisible by 8. So the given number is divisible
by 8.

63152

The last two digits 52 is divisible by 4. So the given number is divisible
by 4.

The last three digits 152 is divisible by 8. So the given number is also
divisible by 8.
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796504

The last two digits 04 is divisible by 4. So the given number is also
divisible by 4.

The last three digits 504 is divisible by 8. So the given number is divisible
by 8.

97312

The last two digits 12 is divisible by 4. So the given number is divisible
by 4.

The last three digits 312 is divisible by 8. So the given number is divisible
by 8 also.

69704

The last two digits 04 is divisible by 4. So the given number is divisible
by 4.

The last three digits 704 is divisible by 8. So the given number is also
divisible by 8.

6251

625 — (1 x 2) = 625 — 2 = 623, which is divisible by 7.

Thus, 6251 is divisible by 7.

8036

803 — (6 x 2) =803 — 12 = 791, which is divisible by 7.

Thus, 8036 is divisible by 7.

39886

3988 — (6 < 2) = 3988 — 12 = 3976, which is divisible by 7.
Thus, 39886 is also divisible by 7.

32556

3255 — (6 x 2) = 3255 — 12 = 3243, which is not divisible by 7.
Thus, 32556 is not divisible by 7.

90381

9038 — (1 x 2) = 9038 — 2 = 9036, which is not divisible by 7.
So, 90381 is not divisible by 7.

6741

674 — (1 =< 2) =674 — 2 = 672, which is divisible by 7.

So, 6741 is divisible by 7.

7833

783 — (3 x 2) =783 — 6 = 777, which is divisible by 7.

So, 7833 is divisible by 7.

67578

6757 — (8 x2)=6757 — 16 = 6741, which is divisible by 7.
So, 67578 is divisible by 7.

30627

3+0+6+ 2+ 7= 18, which is divisible by 9.

So, 30627 is divisible by 9.

8146

8+ 1 +4+ 6= 19, which is not divisible by 9.

So, 8146 is not divisible by 9.

50211

S+0+2+ 1+ 1=9, which is divisible by 9.

So, 50211 is divisible by 9.

5079

5+0+ 7+ 9=21, which is not divisible by 9.

So, 5079 is not divisible by 9.

96201

9+ 6 +2+ 0+ 1= 18, which is divisible by 9.

S0, 96201 is divisible by 9.

950 : Its ones digit is 0. So it is divisible by S and 10 both.
3040 : Its ones digit is 0. So it is divisible by 5 and 10 both.
27505 : Its ones digit is 5. So it is divisible by 5 only and not by 10.
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8. (a) 83193
Sum of the digits at odd place=8 + 1 + 3 = 12
Sum of the digits at even place =3 + 9 = 12
Their difference =12 —-12 =0
Thus, 83193 is divisible by 11.
(b) 202202
Sum of the digits at odd place=2 +2 + 0 =4
Sum of the digits at even place =0 +2 + 2 =4
Their difference =4 —4 =0
Thus, 202202 is divisible by 11.
(c) 106194
Sum of the digits at odd place=1 + 6 +9 = 16
Sum of the digits at even place=0+ 1 +4 =5
Their difference = 16 — S = 11, which is a multiple of 11.
Thus, 106194 is divisible by 11.
(d) 35064
Sum of the digits at odd place=3 + 0+ 4 =7
Sum of the digits at even place =5 + 6 =11
Difference = 11 — 7 = 4, which is not a multiple of 11.
Thus, 35064 is not divisible by 11.

9. (a) 70, 72,74, 76, 78, 80, 82, 84, 86 and 88.
(b) 3120,3122,3124, 3126, 3128,3130,3132,3134,3136 and 3138
10. (a) 125,127,129, 131, 133, 135,137,139, 141, 143, 145, 147, 149
(b) 9893, 9895, 9897, 9899, 9901, 9903, 9905, 9907, 9909, 9911, 9913

Exercise 4

1. Prime numbers: 3, 7, 29, 61, 73, 89, 97

2. 53.59.,61, 67,71, 73,79, 83, 89,97

3 41 and 43

4. (2,3),((3.5).(5,7).(7,11), (11, 13)... soon
s, 90, 91, 92, 93, 94, 95 and 96

|

6. (a) 900 (b) 216
2 | 900 2 |216
2 | 450 2 | 108
3 | 225 2 54
3| IS 3| 27
5|1 25 3 O
s s 3 3
B e
900 =2 x2x3 x3 x5 x5 216 =2x2x2x3 %3 %3
(c) 728 (d) 450
2 | 728 2 | 450
2 | 364 3 | 225
T2 182 3 || 75
7 91 5 25
13 13 s s
1 1
728 =2 =<2 x2x 7 x 13 450 =2 x3 x3 x5 x5
(e) 432
2 | 432
2 | 216
2 | 108
2] 54
| 2F
31 9
- -
1 432 =2 % D% 2 X D% 33 %3




7. (@) CAZ0D (b) C300
10 :('50\
<5 i

©) 353D (d)

252 =2 x2x3 x3 %7 350=2 x5 x5 x7

-
2 336\

672 =2 %2 x2x2x2x3x7

8. (a)4 (b)) 2 (c) 2 (d) 97 (e) 1
Exercise 4C
1. (a) 20 and 30 (b) 16 and 24
20 s 30 ( 1 16 24 1
— 20 — 16
10) 20 (2 8 ) 16 (2
s 1) — 16
9o o
HCF of 20 and 30 is 10. HCF of 16 and 24 is 8.
(¢c) 33 and 44 (d) 64 and 80
33 44 1 64 s 80 (1
—33 — 64
11) 33 (3 16) 64 (4
— 33 — 64
O 9
HCF of 33 and 44 is 11. HCF of 64 and 80 is 16.
(e) 38,57 and 76 () 54, 72 and 90
Let us take 38 and 57 Let us take 54 and 72
38 57 1 54 s 727 (1
— 38 — 54
19) 38 (2 18) 54 (3
- 38 — 54
o o
HCF of 38 and 57 is 19. HCF of 54 and 72 is 18.
Now, we will find HCF of Now, we will find HCF of
19 and 76 18 and 90
19 s 76 (4 18 90 5
— 76 — 90
- B [
Hence, HCF of 38, 57 and 76 Hence, HCF of 54, 72 and 90

is 19. is 18.



(a) 72 and 126

2| 72 2 |126
213 3] 63 72 =2 % 2 < x 3 x 3>
=118 3] 3T 126 =@ < 3 = Dx 7
a1 2. Fl 7T HCF=2x3 x 3
3 3 1
(b) 40, 80 and 96
2| 40 2| 80 2| 96
2 | 20 2 | 40 2 | 48
2 10 2 20 2 24 40 ,@)
) 5 2 10 2 12 80 ><2><5
! S 21— 96@XZX2><3
—=1—5 HCF=2x2x2=8
(c) 66 and 198
2| 66 2 | 198
3] 33 3 99 66
11 11 3 33 198 =2 x = 3 xAD
1 11 | 11 HCF =2 x3 x 11 = 66
1
(d) 24, 40 and 56
2| 24 2| 40 2| se6
2| 12 2 [ 20 2| 28 2= x2xDx3
2 6 3 10 2| 14 40 =T x 2 <D= 5
3 3 5 5 7 7 56 =T = 2 < Dx 7
1 ! 1 HCF=2x2x2=8
(e) 54 and 114
2| 54 2114
3 27 3| 57 54 =@ x D=3 x3
g 2 = “1) 114 =G < D= 19
S T HCF=2x3=6
(f) 130 and 208
2 ]130 2 | 208
5 65 2 | 104 130 =)< 5 <A
313 2| 52
13 | —':1’ —S T S 208=2x2x2xZx1D
13 13 HCF =2 x 13 =26
1
(a) 132,154
132)154 (1
— 132
22) 132( 6
— 132
0

HCF of 132 and 154 is 22.



(b)

(d)

(€9

Exercise 41D

1. (a)

(d)

84, 120 (c)
84 s 120 ( 1
— 84
36) 84 (2
— 72
12) 36 (3
— 36
=
HCF of 84 and 120 is 12.
594 and 792 (e)
594 ; 792 ( 1
— 594
198 ) 594 ( 3
=O9F
— 9
HCF of 594 and 792 is 198.
275 and 525
275 ’ 525 z 1
— 275
250 5 295 ( 1
— 250
25 250( 10
— 250
0
HCF of 275 and 525 is 25.
120, 180 and 280
2 120 2 180 2 | 280
2 60 2 90 2 140
2 30 3 45 2 70
3 15 3 15 5 35
S 5 S 5 7 <7
1 1 1
(b) 30, 150 and 210
2 30 2: | 150 2 | 210
3 15 3 75 3 105
5 5 5 25 5 35
1 5 5 7 7
1 1
(c) 75,125 and 375
£ 75 5 125 3 |'375
5 25 5 25 5 125
5 5 S 5 S 25
1 1 5 S5
1
102, 136 and 170
2|1 102 2 | 136 2 | 170
3 51 2 68 5 85
17 17 2 34 77 I 7 4
1 17 17 1

1

105 and 230
105

230 (2
— 210
20) 105
— 100

— 432

198) 216 (1

— 198

18) 198 (11

— 198

HCF of 105 and 230 is 5.

216 and 630
216) 630 (2

HCF of 216 and 630 is 18.

120=2x2=x2x3 x5
180 =2 x2x3 x3 x5
280 =222 %5 %7
LCM =2 x2x2%x3%x3x5x7

LLCM = 2520

30=2x3 x5

150=2x3 xS xS
210=2%3 % § %7
LCM =2 x3 x5 x5

VS5=3% 538D
125 =5 x5 %5
375 =3 X5 x5%5
LCM =3 x5 x5x35

102=2 <3 x 17
136=2 <2 <2 x17
170=2 x5 < 17
LCM =2 x2 =<2 x3

= 2040

x 7= 1050
=375
x5 x 17



(e) 96, 144 and 192

2 96 2 | 144 2192 96=2x2x2x2x2x3
> | a8 > 72 2| 96 144=2x2x2x2x3x3
= 24 2 36 2 48 192 =2 %2 %D D% DR DR 3
21 1= =] 18 21 24 1 CM=2x2x2x2x2x2x3x3
> 6 3 ° 2 | 12 B
3 3 3 3 > 6 =276
1 1 3 3
() 60,72, 90 and 180 1
2| 60 2| 72 2| 90 2 | 180
> [ 30 2 | 36 3| a5 2 [ 90
3 15 > 18 3 15 3| a5
5 5 3 5 5 5 3| 15
1 3 2 1 s 5
1 1
60=2x2x3x5 72 =2x2x2x3x3
90=2x3x3 x5 180=2x2x3x3x5
LCM=2x2x2x3x3x5=360
2. (a) 108, 120 and 132 (b) 56, 140 and 210
2 [108, 120, 132 2 | 56, 140, 210
2 | 54, 60, 66 2> | 28. 70, 105
3| 27, 30, 33 > [ 14, 35, 105
3| 9, 10, 11 5| 7. 35, 105
31 2, 44 1 T 7. 7. 2i
> 1. 10, 11 3 L. %, 3
5 i, & 11 - o 1
11 . 1. 711
i & 1 LCM=2x2x2x3 x5 x7=840
LCM =2 x2 x3 x 3 x
3x2x5x11=11880
(c) 21,27 and 30 (d) 75, 125 and 150
3| 21, 27. 30 3| 75, 125, 150
3| 7. 9 10 5 | 25, 125, 50
3| 7. 3, 10 5| 5, 25, 10
2 7. 1. 10 5 1, 5. 2
s 7. 1, =5 > 1, 1, 2
g % 1. 1 T 1
i 1 i

>

: LCM=2x3x5x5x5=1750
LCM=2x3x3x3x5x7=1890
(e) 715,810 and 100 () 130, 650 and 920

2 |715, 810, 100 2 130, 650, 920

2 |715, 405, 50 2 | 65, 325, 460

3 [715, 405, 25 2 | 65, 325, 230

5 715, 135, 25 5| 65, 325, 115

5 (143, 27, 5 5| 13, 65, 23

3 (143, 27, 1 13 13.. I3, 23

3 (143, 9, 1 23 1, 1, 23

3 (143, 3, 1 1 1, 1

11 (143, 1, 1

13 13. il 1 ILCM=2x2x2x5x5x13 x23

1, L 1 = 59800

ILCM=2x2x3x3x3=x3x5x5x11x13=1158300



K . 4K

1.

(a) 224 (b) 156

HCF =6, LCM = ?

(¢c) Yes
Product of two numbers = 756

(d) product (e) 56

1* number < 2" number

LLCM of two numbers =

HCF of given numbers

Lcm = 228 — 126
Thus, LCM of two given numbers = 126
HCF = 15, LCM = 315, 1% number = 45, 2" number = 2

15 number =< 274 number = LLCM > HCF
45 =< 2nd pumber = 315 =< 15

105

/4;5(
27d pumber = 105
LLCM of 15, 20, 25

27d number =

3 15; 20, 25
5 5, 20, 25
5 1, 4, 5
2 1, 4, 1
2 1, 2, 1

1 1 1

B N

LCMof3, 4,5
LCM =3 =<4 x5

Hence, they all ring together again at 9 a.m.

= 105

LCM =2 x2x3 x5 x=x5=300
Thus, least number of roses = 300

The greatest number that divides

47, 77 and 89 leaving
remainder 5 in each case.

It means HCF of 47 — 5 =42,
77 —5=72,89 -5 =84
HCF of 42, 72, 84

L.et us take 42 and 72

HCF of 42 and 72 is 6.

the

LLCM = 60
Thus, they all ring together after 60 minutes or 1 hour

Now we will find the HCF of 6 and 84

65 84 (14

— 84
o

So, the HCF of 42, 72 and 84 is 6.
Hence, the required number = 6
Smallest number divisible by 24, 48 and 64, i.e.,

ILLCM of 24, 48 and 64

2 24, 48, 64
2 12, 24, 32
2 6, 12, 16
2 3 6, 8
2 33 35 -~
2 3. 3, 2
3 3. 3. 1

E; 3 O 1

ILCM =2 x2 x2x2x2x2x3=
Thus, required number = 192 + 2 = 194

192

72 1
— 42
30 42 1

— 30

12) 30 (2

— 24
6 ) 12 (2
— 12
(0]



To find the greatest length of tape, we will find the HCF of 56 and 140

8.
56 5140 (2
- 112
28) 56 (2
- 56 HCF of 56 and 140 is 28.
0 So, required length of tape = 28 cm
9. HCEF of 28, 42 and 56
Let us take 28 and 42 14 )56 (4
28 [ 42 (1 ‘%
-28
14 )28 (2 So, the HCF of 28, 42 and 56 is
—D8 14.
0 Hence greatest length of each
plank = 14 m
HCF of 28 and 42 = 14
Now, we will find the HCF of 14
and 56

HCF of 36 and 48 = 12
Now, we will find the HCF of 12 and 60
12 i 60 ( 5

10. HCF of 36, 48 and 60
et us take 36 and 48
36 5 48 ( |

L6 Z60
12 )36 (3 0
2 35’ So, the HCF of 36, 48 and 60 is 12.

Hence the required number of pots is 12.










